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double k[N<<2],b[N<<2];
int vis[N<<2];
void Add(int x,int 1,int r,double K,double B)
{
if(!vis[x]) {vis[x]=1;k[x]=K,b[x]=B;return;}
double 11=k[x]*1+b[x],rl=k[x]*r+b[x];
double 12=K*1+B, r2=K*r+B;
int mid=(l+r)>>1;
if(11>=12&&r1>=r2) return;
1f(l1<=12&8&r1<=r2) {k[x]=K,b[x]=B;return;}
double xx=(B-b[x])/(k[x]-K);
if(11>12)
{
if(xx>mid) Add(x<<1l|1l,mid+1,r,K,B);
else Add(x<<l,1,mid,k[x],b[x]),k[x]=K,b[x]=B;
}
else
{
if (xx>mid)
Add(x<<1|1,mid+1,r,k[x],b[x]),k[x]=K,b[x]=B;
else Add(x<<1l,1,mid,K,B);

}
}
double Query(int x,int 1,int r,int p)
{

if(!vis[x]) return 0;

if(l==r) return p*k[x]+b[Xx];

int mid=(l+r)>>1;

double res=p*k[x]+b[x];

if(p<=mid) res=max(res,Query(x<<l,1l,mid,p));
else res=max(res,Query(x<<1l|1l,mid+1,r,p));
return res;
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#include<iostream>

#include<cstdio>

#include<cstdlib>

#define 11 long long

using namespace std;

const 11 N=1201000,inf=1el5;

1l n,qg,a[N];

struct seg{ll mn,se,tagmin,num,cov,add; }t[N];
void update(seg &A,seg B,seg C)

{
if(B.mn>C.mn) swap(B,C);
A.mn=B.mn;A.num=B.num;
if(C.mn==A.mn) A.num+=C.num,C.mn=C.se;
A.se=min(B.se,C.mn);

}

void Build(ll x,ll 1,1l r)

{
if(l==r) {t[x].mn=a[l];t[x].num=1;return;}
1l mid=(l+r)>>1;
Build(x<<1,1,mid);
Build(x<<1|1,mid+1,r);
update(t[x],tlx<<l],tlx<<1]|1]);

}

void putcov(ll x,1lU 1,1 r,11 v)

{
t[x].mn=v;
t[x].se=inf;
t[x].tagmin=-1;
t[x].add=0;
t[x].cov=v;
t[x].num=r-1+1;

}

void putadd(ll x, 1l v)

{

t[x].mn+=v;
t[x].se+=v;
t[x].tagmin+=v;



t[x].add+=v;

}
void putmax(ll x,1l v)
{
if(v<=t[x].mn) return;
t[x].mn=v;
t[x].tagmin=v;
}
void pushdown(ll x,ll 1,1l mid,ll r)
{
11 &vl=t[x].cov,&v2=t[x].add,&v3=t[x].tagmin;
if(vl)
putcov(x<<1l,1,mid,vl),putcov(x<<1l|1l,mid+1,r,vl),v1=0;
if(v2) putadd(x<<l,v2),putadd(x<<l|1,v2),v2=0;
if(v3!=-1) putmax(x<<l,v3),putmax(x<<l|1l,v3),v3=-1;
}

void Cover(ll x,ll L{,1U r,ll gl,ll gr,1l v)

{
if(l>=gl&&r<=gr) {putcov(x,1l,r,v);return;}
11 mid=(l+r)>>1;
pushdown(x,l,mid, r);
if(gl<=mid) Cover(x<<l,1,mid,gl,gr,v);
if(gr>mid) Cover(x<<l1l|1l,mid+1,r,gl,gr,v);
update(t[x],t[x<<l],t[x<<1l]|1]);

}
void Add(1l x,1l {,1U r,11 gl,11 gr,11 v)
{
if(l>=gl&&r<=gr) {putadd(x,v);return;}
1l mid=(l+r)>>1;
pushdown(x,l,mid, r);
if(gl<=mid) Add(x<<1,1,mid,gl,gr,v);
if(gr>mid) Add(x<<1|1,mid+1,r,gl,gr,v);
update(t[x],tlx<<l],tlx<<1l]|1]);
}
void Max (1l x,1l 1,11 r,11 gl,11 gr,11 v)
{

if(v<=t[x].mn) return;



if(l>=gl&&r<=gr&&v<t[x].se) {putmax(x,v);return;}
1l mid=(l+r)>>1;

pushdown(x,l,mid, r);

if(gl<=mid) Max(x<<1l,1,mid,gl,gr,v);

if(gr>mid) Max(x<<l|1l,mid+1,r,gl,gr,v);
update(t[x],t[x<<l],t[x<<1l]|1]);

}
1l Query(ll x,1l L,1U r,11 gl, 1l gr)
{
if(l>=gl&&r<=gr) return (t[x].mn==0)7?t[x].num:0;
1l mid=(1+r)>>1, res=0;
pushdown(x, 1, mid, r);
if(gl<=mid) res+=Query(x<<1l,1,mid,gl,gr);
if(gr>mid) res+=Query(x<<l|1,mid+1,r,gl,gr);
return res;
}
int main()
{
cin>>n>>q;
for(ll i=1;i<=n;i++) scanf("%lld",&a[i]);
for(ll i=1;i<=n*4;i++) t[i].se=inf,t[i].tagmin=-1;
Build(1,1,n);
for(ll i=1;i<=q;i++)
{
1l op,,r,C;
scanf("%slldslldslld",&op, &L, &r);
if(op<3) scanf("slld",&C);
if(op==1) Cover(1l,1,n,1,r,C);
if(op==2) Add(1,1,n,1,r,C),Max(1,1,n,1,r,0);
if(op==3) printf("slld\n",Query(1l,1,n,1,r));
}
return 0;
}
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#include<iostream>
#include<cstdio>

#include<cstdlib>

#include<set>

#define lc t[x].ch[0]

#define rc t[x].ch[1]

using namespace std;

const int N=1e5+10;

int n,m,a[N], lost,tong[N],nod,o[N],rt[N],q,ans;
set<int> S;

struct seg{int ch[2],siz;}t[N*200];
int query(int x,int 1,int r)

{
if(l==r) return 1;
int mid=(1l+r)>>1;
return t[lc].siz?query(lc,l,mid):query(rc,mid+1,r);
}
void add(int &x,int 1,int r,int p)
{
t[++nod]=t[x];x=nod;t[x].siz++;
if(l==r) return;
int mid=(1l+r)>>1;
if(p<=mid) add(lc,l,mid,p);
else add(rc,mid+1,r,p);
}
int merge(int x,int y)
{
if(!x||'y) return x+y;
int p=++nod;
t[p]l.ch[0]=merge(lc,t[y].ch[0]);
t[p].ch[1l]=merge(rc,t[y].ch[1]);
tlp].siz=t[t[p].ch[0]].siz+t[t[p].ch[1l]].siz;
return p;
}
void split(int nw,int &x,int &y, int k)
{

if(t[nw].siz==k) {x=nw,y=0;return;}



t[++nod]=t[x];t[x=nod].siz=k;
t[++nod]=t[y];t[y=nod].siz=t[nw].siz-k;
if(k<=t[t[nw].ch[0]].siz)

split(t[nw].ch[0],lc,t[y].ch[0],k),t[y].ch[1l]=t[nw].ch[1l],r
C=0;else split(t[nw].ch[1],rc,t[y].ch[1],
t[t[nw].ch[O]].:;z),lc=t[nw].ch[O],t[y].ch[0]=0;

ioid split(int p)

{
set<int>::iterator it=S.upper bound(p);it--;
o[pl=o[*it];if(*it==p) return;
int tt=rt[*it];rt[*it]=rt[p]=0;
if(lo[pl) split(tt,rt[*it],rtipl,p-*it);
else split(tt,rt[p],rt[*it],t[tt].siz-(p-*it));
S.insert(p);

}

int main()

{

cin>>n>>m;

for(int i=1;i<=n;i++) scanf("%d",&a[i]);

for(int i=1;i<=n;i++) add(rt[i],1,n,a[i]),S.insert(1i);

S.insert(n+1);

for(int i=1;i<=m;i++)

{
int op, 1, r;scanf("%d%d%sd",&op, &L, &r);
split(l);split(r+1);
set<int>::iterator itl,it2,it;
itl=S.find(l);it2=S.find(r+1);
for(it=++1itl;it!=1t2;it++)

rt[l]=merge(rt[l],rt[*it]);

o[l]=0p;S.erase(itl,it2);

}

cin>>q;split(q);split(g+1);

ans=query(rt[ql,1,n);



cout<<ans<<endl;
return 0;
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#include<iostream>
#include<cmath>
#include<vector>
#define pb push back
using namespace std;
const int N=2e5+10;
int n,q,M,bl[N],vis[N],cc[N];
struct Que{int op,x;}B[N];
struct TO{int to,d,t;};
vector<TO0> V[N];
vector<int> E[N];
void build(int x,int lst,int dep,int wh)
{
if(vis[x]&&x>1) V[lst].pb((TO){x,dep,wh});
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for(auto y:E[x])
if(vis[x]) build(y,x,1,1);
else build(y, lst,dep+1l,wh+1-b1l[x]);
}
void dfsl(int x) {bl[x]++;for(auto &P:V[x])
if(bl[x]>=P.t+1) dfsl(P.to);}
void dfs2(int x) {bl[x]=0;for(auto &P:V[x])
P.t=P.d,dfs2(P.to);cc[x]=1;}
void Reset(int x,int blkdep,int cov)

{
if(!vis[x]) bl[x]=blkdep+(bl[x]&&!cov);
for(auto y:E[x]) Reset(y,max(0,bl[x]-1),cov|cc[x]);
bl[x]=min(1,bl[x]);
if(vis[x]) V[x].clear(),vis[x]=cc[x]=0;
}
int main()
{

scanf("%d%d",&n,&q) ;

for(int i=2,x;i<=n;i++) scanf("%d",&x),E[X].pb(1);
for(int i=1;i<=q;i++) scanf("%d%d",&B[1i].0p,&B[1].X);
M=sqrt(q);



for(int b=1,1=0,r=0;r<q;b++)
{
1l=(b-1)*M+1; r=min(1+M-1,q);
for(int i=1l;i<=r;i++) vis[B[i].x]=1;
vis[1l]=1;build(1,1,0,0);
for(int i=1;i<=r;i++)
{
if(B[i].op==1) dfsl(B[i].x);
else if(B[i].op==2) dfs2(B[i].x);
else printf("%ss\n",bl[B[i].x]?"black":"white");
}
Reset(1,0,cc[1]);
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path(z,y) = path(z,rt) + path(y, rt) — 2 * path(lca(z,y), rt)



